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Directiong: Read through the three passages carefully and answer the questions which

follow them. Choose the best answer for each question.

Passage #1

Olim, servus nomine Androciés in Africa habitabat. 1
Propter domini crudelitdtem fugere coactus, in speluncam
iit. Mox ad hanc spefuncam venit ingens led qul gemébat
dolébatqtie guod uno pede claudus erat. Primo Androclés
quidem terroris plenus se cglabat. Sed ubi led eum conspexit, 5
mitis et mansuétus appropinquavit atque pedem el ostendit,
quasi auxilium petébat. Stirpem ingentem, quae in eius pede
haerebat, Androcies extraxit et vulnus Javit. Tum leo, lam laetus,
dormivit. Trés annos, 1ed et Androcles Una in spélunca habitabant.
Deinde milites Androclem ceperunt et ad dominum redixerunt. 1o
Dominus Androclem ad bEstias mittere constituit. Ibi, Androciés
iterumn eidem ledni occurrit! Led quoniam Androclem agnoscit
vitam eius servavit.

1. Ubi Androcles habitabat?

crudelitas,-atis; £ cruelty

cogd,-ere, cOEg, Coactus;
to force

clandus,-z,~um, lame

quidem; indeed

mitis,-¢; gentle

mansuétus -3 -m; tame

guasi; as if

stirps, stirpis; £, thorn

bestia,-ae; £ wild beast,
used in public games

A. in Africa B. servus est C. dominus D. in ltalia

2. Why did Androcles flee?
A. Because he didn't like Africa B. His master set him free
C. Because of his master's cruelty D. A lion was chasing him

3. What is the best transiation for in speluncam in line 27

A.in acave B. into a cave C. within a cave

D. from a cave
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4. What word does inggns modify in line 37

A. speluncam B. Mox C. hanc D. ied
5. What was the lion doing when he came into the cave?

A. growling and fighting B. chasing Androcles

C. groaning and feeling pain D. eating and being sad
6. Cur led gemebat dolgbatque?

A. quod esuriébat B. quod claudus erat

C. quod laetus erat : D. quod Tratus erat
7. Accordi?ﬁg to lines 4.5, how did Androcles first react to seeing the lion?

A. He was afraid and hid B. He screamed

C. He was surprised D. He hugged the lion
8. Inline 5, what case is terrdris?

A. Nominative B. Genitive C. Dative D. Accusative
9. Accordirig to lines 5-6, how did the lion react to seeing Androcles?

A. He was afraid and hid B. He roared

C. He approached wildly D. He approached calmly
10. Quid led hominT ostendit?

A. mitis B. pedem C.el D. speluncam
11. Quid in pede lednis haergbat?

A. rmitis B. auxilium C. stirps D. Androciés
12. What did Androcles do to help the lion?

A. Cleaned the cave B. Combed his mane

C. Removed a thorn D. Rermoved a loose tooth
13. In line 8, what is the gender of yulnys?

A. Masculine B. Feminine C. Neuter D. either Masc. or Fem.
14. How long did Androcles and the lion live together in the cave?

A. for one year B. for three years C. for three months D. forever

15. What is the best transiation for Gn3 in line 97
A. one B. together C. alone D. first




READING COMPREHENSION
LEVEL |
page 3
16. In line 10, what happens to Androcles?
A. He kills the lion and returns home.
B. He helps soldiers capture the fion, then returns to his master.
C. Soldiers capture him and take him home.
D. Soldiers capture him and return him to his master.

17. Quis Androclern ad bestias mittere constituit?

A. Led B. Milités C. Dominus D. Deinde
18. According to lines 11-12, whom does Androcles meet at the beast-fighting
games?

A. the lion B. soldiers C. his master D. his true love

18. In line 12, what case is eidem ledni?
A- Nominative B. Genitive C. Dative * D. Accusative

20. What did the lion do to help Androcles?

A. Killed the soldiers B. Killed his master

C. Saved his life " D. Saved his master's life
Passage #2

" } Gallus, T, m; a Gaul

Nunc Galli arcem Romanam obsidébant. Quamguam 1 arxarcis; f: citadel
ROMENT qui intra arcem erant Galids ubique per vids Rdmanas obsided -&re; 10 beseige
vidére poterant, arcem usque ad finem défendere décreverunt. finis,-is; m; finish, end

Gall intente arcem spectabant, eam enim ascendere decernd,-ere, dacrewy,
volébant. Tandem nuntium Per angustam sémitam 5 dgcretus; to decide
déscendentem conspexerunt, itaque hac via arcem nocte Angustus,-a,-um; narrow
oppugnare constitugrunt. Galfi igitur, tacité ascendentes, semita,-ae; f, path
ad summam arcem advenerunt. Non solum custodes Enser, Anseris; m; goose
sed etiam canés fefellrunt. Ansergs tamen non fefellerunt Nén solum = not only
quT saciT deae Itinoni erant et adhuc Vivebant quod Romani, 10 fallo,-ere, fefelfl, falsus,
quamgquam niilium cibum habgbant, eos esse nolebant. to escape the notice of
Haec res saltUtern Romanis tulit, nam Manlius strepitl anserum ed®, esse, &di, esus; 10 eat
excitatus arma sua rapuit et ad arma ceteros vocavit. Mox salis, saliitis; f; safety
RGmani de arce Gallos deiciebant. strepitus,-us;m;din, racket

deicio = dé + iacid

21. According to line 1, what is the setting for this passage?
A. The Romans are besieging the citadel of Gaul.
B. The Gauls are besieging the citadel of Rome.
C. The Gauls are stealing the arch of Rome.
D. The Romans are waiting on an arch for the Gauls.
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In line 2, what case is arcem?
A. Nominative B. Genitive C. Dative D. Accusative

Qui sunt ubigue per vias Romanas? _
A. Romani B. Milites C. Galll D. Ansergs

According to line 3, what do the Romans decide to do?
A. Defend the citadel right up to the end
B. Defend their arch against the Gauls
C. Flee because the Gauls are everywhere
D. Flee because the streets of Rome are clear

Qudmodo Galfi arcem spectabant?
A. tacite B. laete C. celeriter D. intente

What is the best translation for Tandem in line 57?
A. Quietly B. At last C. However D. But

What word does angustam modify in line 57
A. Tandem B. nuntium C. semitam D. descendentem

According to lines 5-7, what do the Gauls decide to do?
A. Climb a narrow path and attack the citadel at night
B. Climb a narrow path and attack the citadel at 9:00
C. Fight in the street to capture the arch
D. Ciimb down from the arch and fight in the street

Quomodo Galli arcem ascendébant?
A. tacité B. laete C. celeriter D. intente

What is the best translation for ad summam arcem in line 8?
A. to the top of the arch B. we are at the summit
C. at the top of the arch D. at the top of the citadel

What is the best translation for Non solum.. . . fefellérunt in lines 8-97?
A. Not only the guards but also the dogs escaped the notice of the Gauls.
B. Even the dogs escaped the notice of the guards alone.
C. Without the sun, the guards fell on their dinner.
D. They escaped the notice of not only the guards but aiso the dogs.

What is the best transiation for tamen in line 97
A. Quietly B. At last C. However D. Only
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33. According to lines 9-10, whom did the Gauls wake up?
A. the gods and goddesses B. the sacred geese of Juno

C. the sacred Romans D. the sacred lonians

34. In line 10, what case is deae Junoni?
A. Nominative B. Genitive C. Dative D. Ablative

35. According to lines 10-11, why were the geese still alive?
A. Because Roman dogs were guarding them
B. Because the Romans had plenty of food and were not hungry
C. Because the Romans had just begun to eat them
D. Because the Romans did not want to eat them, though they had no food

36. What did the geese do to bring safety to the Romans?
A. Attacked-their guard dogs B. Made a racket
C. Attacked the Gauls for awhile D. Made a big nest

37. According to lines 12-13, what happened because the geese made noise?
A. Manlius woke up, grabbed his weapons, and cailed the others {o arms.
B. The Romans knew where they were and finally had some food.
C. The Gauls killed the geese along with all the Romans.
D. Manlius got angry and called to the others to attack the geese.

38, Inline 12, what case is strepitu?
A. Nominative B. Genitive C. Ablative D. Vocative

39.1In line 12, what case is anserum?
A. Nominative B. Genitive C. Ablative D. Vocative

40. What is happening at the end of the passage?
A. The Romans are lying down on top of the Gauls.
B. The Romans are throwing rocks down at the Gauls.
C. The Romans are throwing the Gauls down from the citadel.
D. A Roman named Mox is defeating the Gauls.

Passage #3

Athents vivebant Theseus eiusque pater, réx Aegeus, 1 Athenae,-arum; f; Athens
115 tempore, Civés régl insulae Cretae poenas dabant: 115 1empore =At that time
septem pueros et septem puellas ad eum mittébant. Hae tolerd, -are; bear, tolerate
quattuordecim victimae MinGtaurd suas vitas dabant. maes, mons; m; custom

Theseus sud patri dixit, “Hunc malum morem tolerare non 5 vis, Vis; £ strength, power
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possum! Ego ipse Mindtaurum inveniam et mefs viribus albus,-a,-um; white
vincam. Alba vela vidébis, & mi pater, sTmortem vitabd: velum, -, n; sail
nigra véla s MinBtaurus mé vincet.” ltaque Th&seus trans vitd,-are; 10 avoid, escape
rmare ad Crétam navigavit. Ibi sufs viribus Minotaurum superare niger, nigra,nigrum; black
et arte Ariadnae fugere poterat. 10 navigd,-are; 1o sail
Aegeus suum filium in scopuld dil exspectdverat; nunc scopulus,-i; m; rock, cliff
navem ipsam sui filif videre poterat. Sed véla nigra, non alba
sunt! Stultus Theseus suum consilium memoria non tenuerat; consilium,-ii; n; plan
véla non mutaverat, Miser Aegeus sine mora s& iécit in mare miitd,-are; to change
"Aegeum.” 15 mora,-ae; £ delay
41. In line*l, what tense is vivébant?
A. Present B. imperfect C. Future D. Perfect
42. According to line 1, how was Aegeus related to Theseus? .
A. Aegeus was the father of Theseus B. They were not related

C. Theseus was the father of Aegeus D. They were brothers

43. What is the best translation for Tnsulae Crétae in line 27
A. of the insulation of Crete B. of the island of Crete
C. of the apartments in Crete D. to the island of Crete

44. According to lines 2-3, why were the citizen of Athens sending boys and girls
to Crete?

A. The king of Crete was lonely because had no children of his own.

B. The king of Athens and the king of Crete were good friends.

C. The citizens of Athens were paying a penalty to the king of Crete.

D. The boys and girls were giving gifts of money to the king of Crete.

45. How many children were sent to Crete? :
A. 6 boys and 6 girls B. 17 boys and 17 giris
C. 40 total D. 7 boys and 7 girls

46. Based on a knowledge of Latin animal names, what is the most logical
assumption about a creature called a Minotaurus?

A. it is part dog B. it is part bull

C. it is part lion D. it is part goose

47. According to lines 3-4, what happened to the Athenian children who were
sent to Crete?

A. They helped sacrifice victims to the Minotaur.

B. They gave their ribbons and victuals to the Minotaur.

C. They gave 14 Minotaurs new life.

D. They gave their lives to the Minotaur.




- breakeps

Tﬂ
P

READING COMPREHENSION

LEVEL ]
page 7

48. What does Theseus say to his father about this custom?

A. That he cannot tolerate this bad custom

B. That he would like to take an apple to the Minotaur

C. That he wants the citizens to delay

D. That he cannot bear to miss the next trip to Crete
49. In lines 6-7, what does Theseus propose to do?

A. Meet the Minotaur itself and chain it up with many men

B. Come into the Minotaur's house and defeat it with his men

C. Invent a new Minotaur using his own strength and power

D. Find the Minotaur himself and defeat it with his strength
30. inline 7, what tense is videbis?

A. Present B. Imperfect C. Future D. Perfect
51. In line 7, what case is [mi pater?

A. Nominative B. Genitive C. Ablative D. Vocative
52. Inline 8, what tense is vincet?

A. Present B. Imperfect C. Future D. Perfect
53. According to lines 7-8, what does Theseus promise his father?

A. White sails if he avoids death; black sails if the Minotaur wins

B. Black sails if the Minotaur dies: white sails is the Minotaur wins

C. If he lives, his father will see the Minotaur

: D. If there is another trip to Crete, his father can go, too

54. In line 9, what case is mare?

A. Nominative B. Accusative C. Ablative D. Vocative
55. In line 9, what tense is navigavit?

A. Present B. Imperfect C. Perfect D. Pluperfect
G¢. In line 10, what tense is poterat?

A. Present B. imperfect C. Perfect D. Pluperfect

91

Mi

. According to lines 9-10, what two things enable Theseus to defeat the
notaur?

A. many men and string from Ariadne

B. his own men and the skili of Ariadne

C. his own strength and some artwork from Ariadne

D. his own strength and the skill of Ariadne
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d2 In line 11, what tense is exspectaverat?
A Present B. Imperfect C. Perfect D. Pluperfect
S Where was Aegeus waiting to see his son’s ship?
A. at the port B. in a lighthouse C. on a cliff D. in a rowboat

1680 Why is Theseus called stultus, in line 137

A. Ariadne was complementing him because he had decided not to stick
with his plan of making a memory-book about his trip to Crete.

B. His father was praising him because he had not killed the Minotaur but
had instead caused him to mutate into something new.

C. He had forgotten his plan of changing the black sails to white and had
instead changed them to purple, a new color for the Athenians.

D. He had forgotten to change the sails to white, causing his poor father,
when he saw the black sails, to jurmp off the cliff.




